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gu.15) #2 X, * p3-16.py

Enuml, num2, num3 = eval(input(‘Enter three numbers
separated by commas: "))

mtotal = num1 + num2 + num3
Maverage = total / 3
mprint(‘total = %d, and average = %f' %(total, average))
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M Enter three numbers separated by commas: 100, 150, 170
Wmtotal = 420, and average = 140.000000
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»print(‘total = %d, and average = %.2f" %(total, average))
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» Enter three numbers separated by commas: 100, 150, 170
»total = 420, and average = 140.00
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radius = eval(input('Enter the radius: ‘))
area = radius * radius * 3.14159
perimeter = 2 * 3.14159 * radius
print(‘Area = %.2f' %(area))
print(‘Perimeter = %.2f'%(perimeter))
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M Enter the radius: 5
BArea= 7854
M Perimeter = 31.42
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g2 X p3-17-2.py

W= #-3.14159 math -2 gl Bx i g { 4F > 4ol
FEFC AT
Import math
radius = eval(input('"Enter the radius: '))
area = radius * radius * math.pi
perimeter = 2 * math.pi * radius
print(‘Area = %.2f'%(area))
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# This program display learning Python now!, and Python is
fun.
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This program display learning Python now!,
and Python is fun.
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Lab 3-2
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Enter height: 23.5
Enter width: 19

b lds g A exercise3-3.py
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Height = 23.50
Width = 19.00
Perimeter = 85.0
&kag = 446.50
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